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Logic Puzzle

-  The big monkey rows a small monkey over; the big monkey
comes back. The big monkey rows the other small monkey over; the
big monkey comes back. Two humans row over; a human and a
small monkey come back. (Now two humans, the big monkey, and a
small monkey are on the starting side of the river, and the third hu-
man and the second small monkey are on the destination side.) hu-
man and the big monkey row over; the human and a small monkey
come back. Two humans row over; the big monkey rows back. (Now
all the monkeys are on the starting side of the river, and all the hu-
mans are on the destination side.) The big monkey rows a small
monkey over; the big monkey comes back. Then the big monkey
rows the other small monkey over.
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